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Double Jpsi fraction is 0.647 =0.007

Double prompt fraction is 0.340+0.002
Prompt Jpsi pair fraction is 0.220+0.003
Prompt Jpsi pair events number is 10957 =127



Four muon pt
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Four muon mass
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Four muon rapidity
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Two muon pairs absolute delta rapidity
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Differential bins

Four muon pt [0, 10, 20, 30, 90]

Four muon mass [0, 10, 20, 40, 60, 100]
Four muon rapidity [-2.5, -1.5, -0.5, 0.5, 1.5, 2.5]

Two muon pair absolute delta rapidity[O, 0.5, 1.5, 2.5, 3.5, 9]




Four muon mass [0, 10]
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Four muon mass [10, 20
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Four muon mass [20, 40]
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Four muon mass [40, 60]
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Four muon mass [60, 100]
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Signal yield in four muon bins
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